SeLJTion

Stat 21 --- Fall 2003

Midterm 2
Open book --- 50 minutes

Show all work Lo salvage paints, Frame your answers, Show 3 dacimal piaces in VYoLr
AnNswers. [ is not necessary to use the continuity correction, or to do interpalations
in the normai table, "Non-negative” means larger than or egual fa rara, “positire”
means stricty larger than zerp.

Prablem L. {25 minuvtes, 25 paints)
A box has 2 tickets labeled *-1", 2 ticket labeled “0”, and 6 Lickets labeled
'.'|2l'l':
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A. 1 draw 5 tickets with replacement. What Is the chance of obtaining 3
nen-negative tickaks?

B. I draw 5 tickets without replacement. What is the chance of abtalning 3
non-nasgative tickets?

C. I draw 100 tickets with replacement. What is the chance that the number of
non-negative tickets will be larger than 747

D. I draw 100 tickets with replacement. What is the chance that the sum of
draws of the positive tickets will be larger than 1057

E. Now suppose the box has 200 tickets labeled "-1", 200 tickets |abeled ol ¢ g
and 600 tickets labeled "2”, I draw 100 tickets without replacement. What Is
the chance that the sum of draws of the positive tickets will be larger than 1057
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Problem 2. (25 minutes, 25 points)
A box has 1000 tickets, Values of these tickets are unknown. [ draw without
replacerment 100 tickets and find 20 ™-2", 40 ™0" and 40 *3":
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A. Obtain a 95% confidence interval far p, the proportlon of non-negative
tickets In the hox.

(Mote: You are required to show the AQD, the SE, and the error margin, Give
the answer in the form: p equals ... give or take ... at 95% confidence)

B. Obtain a 99% confidence interval for a, the average value of all positive
tlckels in the box.

(Mokte: You are required to show the .-'-'kDD the SE, and the error margin. Glve
Ehe answer in the form: a equals ... glve or take _.. at 99% confidence}
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